INlumission

Modern Fences & Gates

Gate kit installation guide

Scan to watch
installation video

PO®OOO®

Fire Resistant ANl Muminum Recyclable

Office: (888) 615-5001 | Email: info@alumission.com
Address: 530 Spectrum Cir. Oxnard, CA 93030



PART A: INSTALLING THE SIDE POSTS

|

e @
H_..._._____ 1%\_/‘
R~ R - e Use #8 screws to atjcach the Drill 5/8”
Cut the side posts to the bottom cap to the side posts.| | holes fron.l the
desired height. channel side of \[g
1 2 the side posts. 3
4 M L v i /,_,_»\ g N ™
R /j’/,, || Level the side posts and Drill the wall '
““_?335_&____;_;_-;!.:?’.’ mark the holes. the size
L >mjf e - || I, needed for
// /// )\%I?;L,/‘ ’/’.__’/-', - "“"'I_-j'l ) II_ . the anchors x
= = s o J ‘ you’re using. ‘
= g v T
1 - = ﬁ| \.‘_31 | i’.'r_:_—D i
oy JL
| | f
Drill 3/8 h(?les to the back | | y ol
wall of the side posts. il |'| v S
41 \ ‘ fl 51 \. = - GJ
r N\ ([ N ™
Attach the side posts to the | | Slide in the post cover to Slide in the stopper on the
walls. Level again before the hinges side post. lock side.
tigthening. | A \ .
i - B el = || \\“\\_\ = -
. T
| S
| s hx I||
.'IIIIIII Ill
‘ I ‘ ' |II
| |I
1)L .’.! A ; | A
( N )
m |

| 1 The side post can be mount on:
Concrete columns, block wall, house with siding or

Use #8 screws t'<|) attach the ¢
top cap to the side posts, staccu, fence post or anything stable enough to support
10) the gate’s weight (751b-811b).

.




PART B: ASSEMBLING THE GATE

Cut the gate posts to the
desired height (17-2” shorter
to have gap from the

Use #8 screws to attach the

bottom caps to the gate Measure the distance
posts. A between the side postSA

\. L

i N 4 ™
Place the first slat between |
the gate posts and square it. ’

=

»

Use #8 screws to attach the
first slat to the frame. %

L

Cut the slats needed 7-3/4”
shorter than the opening
between the side posts. 4

' ' | ' ™y
Slide in the spacers and slat Insert the gate post covers

to build the desired design. =" | | to all 4 channels in both
side of the gate.

Attach the last slaté and

add more screws to most -
of the slats. 8 |

( Use #8 screws to attach
the top gate
caps.




PART C: INSTALLING THE GATE

#

Place the hinges on the side
post and mark the screw

holes.
e
ﬂ[ |

| ‘\ 1

Y i

hinges screws.

L | |

Pre-drill 1/8” holes for the

(Use #10 flathead screws to |
attach the hinges to the 31de
post.

fPlace the gate open and
attach the hinges to the gate.

[Use new door lock
installation kit and drill the
lock holes (2-3/8”) and latch.

Install the lever.
Use manufacturer guide.

T f S ‘
\H T
I| Il || _U -
SRR [ N
'fDE % : 3‘ r — _ff_'f__—j' .-fjij
Ry B | r
\ ||I]|| H » = e (
| -
LT L |
LI i /Q
;'}% i EE [] @ _ ::_—;'_E
il ' -
~ — =% I,E_\




